ACE Questions (1-24-2006)
“A judge can’t have any agenda, a judge can’t have any preferred outcome in any particular case, and a judge certainly doesn’t have a client,” said this Supreme Court nominee.  He is President Bush’s choice to succeed Justice Sandra Day O’Conner.

Name him:

Judge Samuel Alito  (pg A1, 10 Jan)

It’s long slog back to 11,000 is a sign of the resilience of the 30 companies it follows, companies that serve as bellwethers.  That it took so long to get back to 11,000 however, is a sign to some market watchers that blue-chip stocks just aren’t what they used to be.

What was it that hit 11,011.9; its highest since the summer of 2001?

The Dow Jones Industrial Average  (pg A1, 10 Jan)

Accept- the Dow Jones.

He condemned terrorism in an annual foreign-policy speech to this area’s diplomats.  He said it is “more deplorable when it hides behind religion, thereby bringing the pure truth of God down to the level of the terrorist’s own blindness and moral perversion.”

Who gave this speech?

Pope Benedict XVI (16th) in his annual speech to Vatican based diplomats.  (pg A1, 10 Jan)

Accept- The Pope.

Geography
What is the name of the temple complex created by the Khmer civilization in SE Asia?

Angkor Wat (pg 741)
The name of one of the main group of Pacific Islands means “many islands.”  Name this group.

Polynesia (pg 796)
Which country in Southeast Asia has the largest Muslim population in the world?

Indonesia (pg 708)
U.S. History
What was Franklin Roosevelt’s hands-off policy of dealing with Latin American nations known as? 

The Good Neighbor Policy (pg 598)
What was the policy of giving in to Adolph Hitler in order to preserve peace known as?  

Appeasement (pg 597)
What June 1942 battle in the Pacific theater of World War Two resulted in American forces finally halting Japan’s expansion?  

The Battle of Midway (pg 610)
Literature
In “A Mothers Tale,” by James Agee, what instruction did the one who came back give concerning the yearlings (the calves)?

He said to kill them (pg 17)
In “The Flowers,” by Alice Walker, what does Myop see in the oak over her head?

A piece of a noose (pg 583)
In “A Good Man Is Hard To Find,” by Flannery O’Conner, The Misfit says “someone has thrown everything off balance” so that “it’s nothing for you to do but kill somebody or do some other meanness.”  Who was that someone?

Jesus (pg 454)
American Government
What kind of law refers to human conduct that entails disputes between private parties and to disputes between private parties and government not covered by criminal law?

Civil Law (pg 704)

What is the name of the program that the federal government and the state governments administer to provide medical insurance to low-income families? 

Medicaid (pg 735)
A tax that is not levied according to a person’s ability to pay is called?

A regressive tax (pg 741)
Shakespeare
In “Troilus and Cressida,” the Trojan leaders meet in council to determine whether to agree to the Greek demand that Helen be returned to her rightful husband.  Which one of these leaders argues that it is morally right to return her but eventually gives in to the view of the others that honor demands that they refuse to return her?

Hector (II.ii.175-176)
In “Two Gentlemen from Verona,” when Proteus arrives at the Duke’s palace, Valentine reveals to him a secret plan he has concerning Silvia.  What is the plan?

He and Silvia are betrothed and plan to run away together.  (II.iv.179-180)
In “Richard II,” what sentence does King Richard pronounce on Mowbray?  

He exiles him for life (I.iii.148-153)

Vocabulary
Concise:

a. fussy

b. accurate and factual

c. brief and compact
d. clean

Careen:

a. bump against

b. lurch
c. fall

d. act foolishly

Chaotic:

a. in utter disorder

b. fervent
c. unclear
d. dry
Team Choice
What type of diplomacy involved American banks and businesses heavily investing in Latin American economies as a means of influencing their politics?  

Dollar Diplomacy (pg 474)
In parts of Malaysia and Indonesia people live in elevated one story buildings that hold up to 100 people, what are they called?

Longhouses (pg 752)

(I seem to be missing one of the team choice questions)

1st Round Toss-up

In “Richard II,” who in a much-admired speech describes England as “This royal throne of kings, this sceptered isle,/This earth of majesty, this seat of Mars,/This other Eden, demi-paradise…”?

John of Gaunt (II.i.40-42)
Chemistry
The energy required to break a bond between two atoms is referred to as what?

The bond energy (pg 342)

A covalent bond in which the electron pair is not shared equally between the two atoms makes it a what?

A polar bond (pg 345)

What type of bonding would be present in a crystal of table salt?

Ionic bonding (pg 345)

Art History

What was the nickname for French expressionists?

“Wild Beasts,” or Fauves (pg 452)

What was the nickname for American realists of the early 20th century who emphasized the poverty and ugliness of the cities?

“The Ashcan School” (pg 500)

What is the name of the early 20th century art movement concerned with dynamic energy and speed?

Futurism (pg 464)

Sports
The NFL plans to have 2,000 dancers on the field during halftime at the Super Bowl.  Originally, the league was seeking dancers aged 18-45.  Last week they announced that dancers over 45 were OK, too.

Why did they decide to increase the age?

The Rolling Stones are performing, so they reconsidered the demographics.  (pg C2, 13 Jan)

He has decided to skip his senior season to enter the 2006 NFL draft.  This Heisman Trophy winner is expected to be the number one pick by the Houston Texans.

Who is he?

Reggie Bush (pg C1, 13 Jan)
He is only the 4th reliever given baseball’s highest honor, gaining election to the Hall of Fame.  Becoming the 1st pitcher elected with no career starts, the split-finger pioneer was listed on 76.9 percent of the ballots, collecting 400 of a record 520 votes cast by the Baseball Writer’s Association.

Name him:

Bruce Sutter (pg C1, 11 Jan)

Math

Budget Rent-A-Truck rents small trucks at a daily rate of $33.95 plus 30 cents per mile.  Cactus Rent-A-Truck rents the same size truck at a daily rate of $32.95 plus 32 cents per mile.  For what mileage is the cost the same?

50 miles
Find the sum of the polynomials:  4x3 + 3x2 – 5x + 9 and -2x3 – 3x2 + 7x – 16

2x3 + 2x – 7

Write the equation of the line containing the points (1, 2) and (-2, 3).  Give your answer in standard form.

x+3y = 7

Biology

In the Quarternary period of the Cenozoic Era, what has been the main factor causing the extinction of species?

Man (pg 343)
The embryonic tissue layer that forms muscle is present in most animals.  Name this tissue layer.

Mesoderm (pg 440)

Saprobic fungi obtain nutrients from what source?

Non-living organic material (pg 379)
Physics
The amount of energy needed to melt one kilogram of a substance is called what?

Heat of fusion (pg 253)
What is the name of the theorem:  “Change in kinetic energy is equal to work done on it.”

Work-energy theorem (pg 220)
Dispersion of different wavelengths of light (dependence of refractive index on wavelength) as it passes through the lens causes what in a lens?

Chromatic aberration (pg 383)

World History
In the late 19th century Turkey, what was the revolutionary secret society of Western-influenced army officers?

Young Turks (pg 557)
Fought in the early 1850s, this war was called “the most unnecessary war in history.”  Name it.

The Crimean War (pg 552)

What was the scandal involving a Jewish French army officer who was accused of treason?

The Dreyfus Affair (pg 555)

Team Choice
There is abundant evidence that the first land masses on Earth shifted dramatically over time and that continents continue to be altered even today.

The concept that the Earth’s crust is fractured and that resulting large portions drift and collide is called what?

The Plate Tectonic Theory or Plate Tectonics (pg 328)
The human ear can detect beat frequencies as high as 7 hertz.  When two waves differ by more than 7 hertz, the ear detects a complex wave.  If the sound is pleasant the result is called a what?  

Consonance or Chord (pg 321)
What Prussian statesman was considered a practitioner of what came to be known as “realpolitik?”  

Otto von Bismarck (pg 544)

(once again, looks like I’m missing a question)
